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ITERE—MEZNEVIR, REENRLANKYR. B, hR=RREIE—DTREH~.
AXFERE—FIFREEEIRNITSEREE, FIATGRUBEI) BITERERERIR,
KRG EEECERZBRAEMALR, F{E NADH #4445 NAD, i&idJlE NADH 7E 340nm 4%
HEMNRCE, #MTEEFRTITERRAE.
=\ RFIER AR FNEF] :
BFI B A REFEX =3F
RBUK A& 60mLx1 g 4°CIRTF

IEARTRJL FHREOMERFTIENE
=8, HXE 0.55mL Bk AIMRE

I — M7 4 -20°C

) 4 x RE | . mrmmanszraccR
#, BIERERM, =XAR%E.
SRR TRED, EHAEA

3= M1 -20°C

s Bl 1 % " JREB, FAN 1.1mL B A E A

RA= S0mL jRARx1 4°CIRTF

- “ 4°CRESE IEARTRJL RSB, EMFEN
AT PR *®TF JEEER, TN 0.55mL Z KA
=. FTERNEFAMm:
LN ET. ImL AREEEN (5L lem) ( UERECHL. TTERBRIE. HEMEREK,
M, RS ENE :
BPUENSLIGANER 2 MERBFUNE, THRAMERER, HREIRRRE, BRSO FARFRAF
IREE!
1. HEAREZE:
O HLAMAK: 0.1g ALAFA (KAFTEMMEAREINE 0.2g £4) . N ImL RBUGHE, HiRES
EEEFEE| EP B, 12000rpm, FIRE/ 10min, FiERRN.
[E] . FHEMERE, AMRBELARE (o)  RBERARmML)J 1: 5~10 BIELHIEZEX
@ HE/EEHFA
FZREMRFMEIEOENRN, BOEFLE, 500 FHERESMAMMAN ImL 12B0&,; KEEE
R E S A (D12 300w, A 3%, [8fR 7#), ARFE 3min) ; 12000rpm, FRE(> 10min,
B EEEKEFN,
[GF] - BHEMEAE, THRBAR/EEHE (1041 : RBEUEAFR (mL) A 500~1000: 1 AIEEFIFREL
@ BEHR BEREEATEERN, 88, BORRLIBRN,

2y B

) EIHMD IR TSR 30 min, IFTIRKE] 340 nm, ZEIBKIFE,
@ FERFBEEER (25°C)
@ £ ImL BB (KR lem) FHKIIA:

RFZFR (uL) NEE =EE ((XM—X)
LEVN 30
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ZEIBIK 30
B — 40 40
A= 20 20
A= 620 620
RS, ER (25°C) T, KRR 10min J§F 340nm 4b3RER Al,
i3 | 10 | 10
RS, =R (25°C) T, R 20min F 340nm 4MEERE B R A2
B (FAEHSSER), TEKRNME, BEE 2 5RARLE
REFAE) , AA= (Al-A2) E- (Al-A2) =H,

CE] LENRTRNTSE, ERE20minGEIEEMEHME, AIXARE$E: 3min, [BFRImin, KEFIER R

BETE. AEBENENEENA2E.
2. BEAVEBIEL.5, ALURARTI—/IE (n2oul) , MERFI=MREM; sombEARE @n2oul) , W

RFI=HEREM; MKREREVIERANATEHIE.
3. BAAMZEER, FEmMEARE (nsopl) , MIKFI=ZHEED . MERERHVIFERANABERITE.
EAEEAT4, BHHARR, BREKDERNTELARME.
. ERITE:
1. REZREITE:
RS E(me/g BE)=[AA+(exd)]xV2x103<Mr+(WxV1+-V)=0.732xAA+W
2, B4R EITE:
B A2 (mg/10* cell)=[AA+(exd)]x V2x 103 xMr=(4fE £ Ex V1+V)
=0.732xAA-4HEB % &
3. R ELNERITE:
FIEEE & B(mg/mL)=[AA+(exd)|xV2x103xMr+V1=1.23xAA

e---NADH & /R IR Y Z& $156.3x10°L/mol/cm; d---Jt1ZEEE, lem;

V- B EGRAFR, ImL; VI1---#EAR4EFR, 30pL=0.03mL;
V2--- R R BT, 720uL=7.2x10"L; Mr---1TiRR 7 &, 192.1;
W---BARRE, g RN L -—-Smg/L,
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